
1) Factorise x2 + 6x + 8

Answer: ____________

2) Find the percentage change from 4 to 
22

Answer: ____________

3) Increase 30 by 40%

Answer: ____________

4) 161.16 ÷ 10.2

Answer: ____________

5) Find the median of the following set of data:

26, 26, 18, 9, 18, 2, 35, 26, 18

Answer: ____________

6) 234 ÷ 13

Answer: ____________

7) Increase 50 by 26%

Answer: ____________

8) 75 ÷ 5

Answer: ____________

9) (-84) - (-43)

Answer: ____________

10) 37 - (-33)

Answer: ____________

11) 17000 ÷ 1000

Answer: ____________

12) 6 ÷ (-6)

Answer: ____________

13) (-180) ÷ (-12)

Answer: ____________

14) Find perimeter of 
rectangle having 
sides a = 92 cm 
and b = 47 cm

Answer: ____________

15)
20  Find Volume of 
               20       Cylinder 

Answer: ____________
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16) 72 - 56

Answer: ____________

17) Convert the following improper 
fraction 42/8 + 33/4 into a mixed 
number

Answer: ____________

18)
196

4 /8

Answer: ____________

19) Factorise 7x2 + 18x + 11

Answer: ____________

20)
18

Volume of Cone 
18

Answer: ____________

Total: ___ / 20
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Answers:

1) (x + 2)(x + 4) 2) 450% 3) 42 4) 15.8 5) 18 6) 18 7) 63

8) 15 9) -41 10) 70 11) 17 12) -1 13) 15 14) 278cm

15) 25132.741228718 16) 16 17) 8 18) 14 19) (7x + 11)(x + 1) 20) 6107.2561185786
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